(e - W) WARN Uit Sl 1 ST
s fedip:
2 —(4) = 7 —6=

(-9 —7= 8 +(—10) =

1+ (-1)= (—6) +4 =

7+7= 2P +(-1) =

(1) +(—4) = 1 +6=

5 +(-2)= (—10)° — 1=

9 —8= 70 +(-2) =

7+1= (=7)° +6=

(-1 =5= 70 +3=

(=6)" +(-6) = 10° = (-9) =
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a.Le ()& ol e 1 S
™ foip:
2 —(—4)=12 7*—6=43

(—9)° — 7= (-736) 8% +(—10) = 54

1+(-1)=0 (—6) +4 = (-2)

7+7=14 22+ (-1)=3

D+ (4= (5) Fe6=7

5 +(-2) =123 (—10)* —1=99

9> —8=173 7 +(-2)= (1)

7+1=28 (—7)° + 6= (-337)

(-1’ =5=(-4) 7 +3=4

(—6)° +(=6) = (—222)

10> — (-9) = 1009
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